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1. The fundamental laws of Physics 1, Aot 3w IFrmE g e gy

are the same in all these frames

% g wy ¥ oo ¥
which are
A Y
(A) Retary frame (A) T’ﬁ
(B) Inertial frames 2(B) W= By
(C) Accelerated frames (C) ®fa »w
(D) Frames connected to Earth _ (D) T8 %9 < gt @ R ¥

2. The speed at which the mass of the 2.

T M fre T F B zemE o
particle becomes three times of it’s

o Zemm & A T ) o ¥
rest mass
(A) 2.82%10° m/sec v (A) 2.82x10% m/sec
(B) 3 x10° m/sec (B) 3x10°m/sec
(C) 3x10% m/sec (C) 3x10% m/sec
(D) 2.82x10° m/sec (D) 2.82x10%m/sec

3. The apparent length of a body 3. g 1y 3 gﬁqm:[ N P Oy

moving with a velocity comparable THH T Qe 5 T TR gdiG
to speed of light seems to be B B
(A) More (A) ffees
(B) Less +(B) 31
(C) Equal (C) &H
(D) None of the above (D) ST & 9 g T
4. Onwhat principle the experiment 4. AEHATH-AR WA Fe Ry W
of Michelson-Morley is based AT &
(A) Diffraction A) fads
(B) Reflection (B) WEdH
(C) Polarisation ©) gao
(D) Interference » (D) aAfwTor

US-15170-Series-S (1)
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The ohaerver at rest feels the time
when the watch is moving at a
speed v ~ ¢

(A) More

(B) Blow

(C) Same

(D) None of the above

Gallelian transformation is
related with

(A) Two Inertial frames
(B) Two non Inertial frames

(C) One Inertial and one non-
Inertial frame

(D) None of the above

A particle of rest mass m, is
moving with a speed of C/v/2 then
what will be it's mass

A) 1.l4m,

(B) m,

C) 241 m,

(D) None of the above

What will be the speed of a n
Meson whose Proper half
life Period is 2.5 X 10-* second and
observed half life period is 2.6 10~
second

(A) 0.8C
(B) 06C
(C) 0.995C
(D) 9.95C

(2)

5.

-~

mﬁﬂﬁﬂv:c#ﬂﬁw

g b

(A) 2 7z Prdw = (@)

(B) @ stz P &R ()

(©) 75 Tga o O S ey
= ()

(D) Ivdwe § 9 A

m, R ZEmm @ % & C/\2

# @ 3 1 s ¥ R ww -

m™am .

A 1.14m,

(B) m,
(C) 2.41m,

AD) I Aol O

8. W »-BdF & wm @ ot Prew

I ord oMy T 2.5 x10¢ ARvw
T A R G FW 25 x10°
e }

(A) 08C

B) 06C

(C). 0.995C <
D) 895¢

https://www.ccsustudy.com
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9. The formula for addition of 9. fyfly 3N 2 o & and= ®

Relativistic velocities is [

2o

-1' ’ T
u="’
/"*"‘ S frame
S frame
l ™= U
> u’ ——> Vv
—i—-)v
/S'ﬂ'ame
S! frame
wev kA
(A) U= Tuv @) u 1+u"
"&: c’
B u=u+v B) u=u+v
© veusw © v=us
u+v _ v
‘D) u:—]——;—;‘*;; (D) U.-—1+E_,?
¢! ¢’

10. Einstein equivalent mass energy  10. FF¥7 H XA Jaf qaaa

relation is o §

(A) E=mdc (A) E=mc?

(B) E=K+m,¢? (B) E=K+m,¢

(C) (A)and (B)both C (C)A) @ (B) Al

(D) None of the above . (D) Fod ¥ & w1 T
US-15170-Series-S (3)
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11. The smallest particle of the system
in quantum statistics s
(A) Molecule
(B) Atom
(C) Electron
(D) Photon
12. Which particle is Boson 1n the
following
(A) Proton
(B) Neutron
(C) a-particle
(D) Positron
13. The distmbution of B-E statistics
and F-D Statistics become equal to
the distribution of M-B statistics
when
(A) n <<g
B) n>>¢g
(C) n=¢g
(D) None of the above
14. Plank's Law can be derived from
(A} F.-D Statistics
(B) M-B Statistics
(C) B-E Statistics
(D) None of the above

US-15170-Series-S (4)

{1, A gl ¥ FEm @ B

(C) T
£ AD) B
Lo P § & d-E & AW B
(A) W
(B) FzH
_(C} o -]
(D) Uiz
13. B-E aifews aar F-D it & G
M-B #ife 2 RatT & §9F 8
aa &
(A) n <<g,
(B) n,>g
(C) n=g
D) 9T & § HE
14. % % FE9 § Proe @7 a9 §
AA) F-D wifemst &
(B) M-B mifegst &
(C) B-E ®iftorst &
D) I & § 3 78
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There is a Minimum probability

exist for filling Fermi energy levels

in a Fermi gas

A) 0

®) 1

© 3

(D) In between 0 and 1 which
depends on temperature

The spin of the photon is

A) 0O

(B)

3510 B T

(C)
Dy 1

The Fermi Energy of a free
electron gas depends on the
electron density P as follows

o

(B) Pg

©c p°

b1

D) p°

(%)

15.

16.

17.

w ¥ off stwlt 3 9 @

A e A

(A) 0

® 1

© 3

@) 0% 1% &3 A PR
T 2

QT FT T I 2

D p°

https://www.ccsustudy.com



18.

19.

US-15170-Series-S

https://www.ccsustudy.com

>

fx) —>

2

P
—> EBAT

Distribution function

N

In the figure the distribution
function is shown with respect to
M-B, B-E and F.D statistics.
Curve. 1. 2 and 3 will represent
(A). B-E. M-B and F-D Statistics
(B) B-E. F-D and M-B Statistics
(C) F-D. B-E and M-B Statistics

(D) M-B. B-E and M-B Statistics
The Spin of Neutrino is

(A)
(B}
(C)
D)

BOl= = OO O

. The Heisgenberg uncertainty

principle is
(A)
(B)
(C)
(D)

AxAP =P
&xﬁpr =P
AxAP =h

None of the above

'.i‘_.

(6)

18.

19,

4
e
i

uf

fo)—>

1
:

'

S EAT

fm § M-B, B-E #iR F-D #ifegsi &
FTER Reer g gt 21 a3k
1, 2 3 3 HH9: PEfT w1

(A) B-E, M-B 3R F-D giftas

(B) B-E, F-D &t M-B wifes

(C) F-D, B-E 3R M-B wifas

(D) M-B, B-E 3R M-B #ifers
= & T @

(A)
B)
(€)
(D)

o

BOI= = poCo

. EEAEt wffiEa @ faers 3

(A) AXAP, =P,
(B) AxAP_..:Px
(C) AxAP =h

D) IR & § i 78
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In a television the kinetic energy
of an clectron is 26 keV. What will
be the percentage increase in the

rest mass of an electron

A) 5%

(B) 10%

(C) 26%

©) 50%

In the equilibrium state

(A) Probability is Maximum

(B) B Parameters of two systems

are equal
(C) (A) and (B) both
(D) None of the above

The statistical condition of
euilibrium of two systems in

thermal contact 18

where

S = Entropy

Q =Thermodynamical Probability
(A) T,=T,

(B) 8,=8,

© o,=0,

O) -;,%los Q(EJ=56E10EQ.(E,)

(7)

21,

22.

23.

@ 44 % @ W P MW It
26 keV 8 | FWRH & Rm 7amE §
afr gfx

(A) 5%

(B) 10%

(C) 25%

(D) 50%

% a3 Rl |

(A) TR sfyeas it

@) p Ywicd At few 2 R
T 2

(€) (A) MR (B) 3
(D) I9 ¥ § B 98

R D fyew adm o 7 3 A
argEen & IE wiREEd T Ert

T8 [

8=

0 = IAFBE TR
A T,=T,

®) §,=8,

© thnz

© 18 lB)= 57 logts E)
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72
Tvp | T | Twp
T T | T

e — — — ——

Tvp | Tvp 'Tvu/
W/

The above figure represents

(A) Grand Canonical ensemblé
(B) Canonical ensemble -

(C) Micro Canonical ensemble
(D) None of the above

The concept of phase space is
(A) Real

(B) Imaginary

(C) Not Known

(D) None of the ahove

The Maxwell-Boltzmann (M.B.)
statistics is also known as

(A) Classical Statistics

(B) Quantum Statistics

(C) (A)and (B) both

(D) None of the above

The expression for most probable

speeds is
A V.= E

NNNANNANNNNN

N

(B.) .Vm}‘ =

(C) (A)and B) both
(D) None of the above

(8)

24.

2222

22225322%582?532?5"

NNANRANNANN

— — — S —

T | o | Twg

TR A Wik w2

\,,(aj'firﬂi_g FAHT A

25.

26.

27,

B) FFA THEA
(C) TEh AT TaEd
(D) I9ta ¥ AR
F AP PG 2
(A) Irafas

@)

(C) swma

(D) IR ¥ § TE T8
Rpade-dieesi (M.B) wiea &
e & g am @ & wer omar 2
(A) FRET witam

(B) FieH iy

(©) (A) 3 (B) At

D) IRF § T FE 78

(KT |
(A) Vnt':]!}]"

(BJ va = 1'!2_]:‘];':[1

(C) (A) IR (B) &t
D) SQH & § ¢ 78
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28. The ratio of v ., v .. and Voo
i
(A) 1:0.92:0.817
B) 1.2:092:0.1
(C) 1:2:817
(D) None of the above
99. Calculate the value of velocity

component v, for which

1
probability f (v falls to

7 times
Jt's maximum value —
@A) v, = V4T (B)v,.=1};

kT akT
© v, f D)V, = —

30. The frequency of one dimensional

harmonic oscillator 18

- 1 [k
© =\a

(D) None of the above

28. Vo Vyup TV H GRIS| F 3

(B) 1:0.92:0817,
(B) 1.2:092:0.1,
(S 1:2:817
) v § 3 3 T

29, I TF v, W A I B, R
R Wit £ (v.) A HET W
%Tﬂtﬁfﬂﬁﬁ% -
(A) v, =4kT (B)v‘=J;

4kT
(C) v, -‘J: D)V, _’J_-‘

30. % AT onad dem @ ER et

@ = /_
k
1 /k
(©) f-;»E

O) IR § § [ T

1 dr)
21 The volume of small element {d7) 31, T SHRI A TG T 3 St (

in Phase space is denoted by
(A) dv =dxdydzdP, dP dP,
®) dt =dxdy dz

(C) dv=dP dP dP,

(D) dt=dxdP,

US-15170-Series-S

(9)

——
-
-
-

@) di=dxdydadp,dP P,

(B) dr =dxdydz
(C) dr= dP‘dP,dP‘
(D) dr=dxdP,

https://www.ccsustudy.com
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35.
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The Energy of a molecule in phase
space will be
P} <P +P;
-
Zm
Pi+P) +P°

x y

P+ P - P?
(C) —_ T
2m

(D) None of the above

In one dimensional harmonic

oscillator the value of a2 and b
(related to an ellipse) arc given

b}r
—
A) a= x;‘?—f and b = v2mE

(A)

(B)

B) a- v'g% and b = VZmE

(© (A)and (B) both

(D) None of the above

The number of Phase cells for a
free particle are given by

@A) y(E)- Uc:lume of ane Phage Cell
Volume of Phase Space

B} (E)= Volume of Phase Space
Volume of one Phage Cell

(C) (A)and (B) both
(D) None of the above

The total number
thermodynamjca are

) 1 B) 2
(C) 3 (D) 4

of Laws of

(10)

/

33.

34,

32, e e B @ ST B S B

pral e B

@

m

2m

® FEE
PP+ PP 4P,

|
——

(©) 2m
(D) JvaF ¥ A B T

o fifly e A F a qy g
(Enfg & wara) P A AT oy )

(A) a:ﬁ?ﬁ‘aﬁ:mem
% oy - a7
(_B} azxzé'ﬁﬂTh=\2thT{T

(€) (AIWIF F

(D) IR & & 2 7
TR T B U, w i o
e et 3

-

}M”Q(Eh rzas BT BIIHT 7 g

Gl AT ST TG

Tl BT 1 T
TF Tl SIS 31 aqes

(©) (A) 3T (B) &=

(B) u(B)=

https://www.ccsustudy.com
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— €, (Energy)

The above graph is related with the

following law

(A) Boltzmann canonical distribu-
tion law

(B) Boltzmann'slaw

(C) Distribution law

(D) None of the above

According the law of Equipartition

of energy the average Energy of

the system is % kT where

k = Boltzmann constant

T = Temperature

is

(A) Notknown
(B) False

- {C) True

88.

US-18170-Series-S

(D) None of the above
The specific heat of 2 monoatomic

gas at constant volume is

-3
#) C,=3R

B) C,=
© C-= T']-R
(D) None of the above

R

- oo

36. E n;

317.

38.

(11)

i
7 &( )

e a% e F A B Pem @
geftaa &

(A) Agaaq P R Faw
B) AT F Fra

(C) fawor & Bgm

(D) I X A ¢ T

It o FERYH e 3 Sigar P
R e I B 2 kT

k = Ao Pl

T = A99H

o ¥

(A) war T

(B) awd

(C) 99
(D) I § } 3 7@

% avike v B Rt sen Fag
AT T Rl

(A) C,=3R
®) C,=3R
©) C,=41R
D) I § q B 8
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42,

43,
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In two dimensional phase space. a
one dimensional oscillator can be
expressed as

(A) aStraight line
(B) aParahola

(Cy aCircle

D) an Ellipse

In a micro-canonical each system

has

(A) Energy and chemical potential

(B) Temperature and chemical
potential

{(C) Temperature and number
of particleg

(D) Energvand number of particles

Number of combinations of
3 objects by taking 2

at a time
are
(A) 40 (B) 30
Cy 20 D) 10

Equaljy likely events have
(A} Equal Probabilitieq
(B) Unequal Probabilities
(C) Ze:oProhabﬂjties
(D) None of the aboye
The value of Probabi);
¢an not he

(A) Zerg

B) 1

© 3

D) Negative

ty of an event

(12}-

yo. 2 foia 7 0 3, O Rl g

(A) @ @6

40.

(A) Fa A TEERE g

(B) W@Tmm

(C) amaE AR F I gegr
D) T A A

41, 5?&@3&7#@@@2?@?_'
HAoMA] & "em et
(A) 40 (B) 30
&£) 20 D) 10
42. T AR TR e ¥
\ AA) T i
T B M i
©C) ™ e
D) TR § } 1 75
43. %miﬁimﬁmmaaam
@A) 1=

https://www.ccsustudy.com
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44. A dice 1s thrown, determine the
probability of face with two dots

coming up
® 3 ® i
© % D §

45. A pair of six faced dice with faces

marked from 1 to 6 each are

thrown simultaneously. What is
the Probability that sum of

44. A% 7F TR T A 2 AT A A
aﬁm#w mﬂmﬁxﬁaﬁ

@) 3 ®) §
(&) % 1)) 2

45. ewaﬁmawmﬁm

2 qu1ﬁ%%'rsaaswsqﬁﬂ
e AT A2 A B

numbers which showupg & 5 zi‘m P 9 AN | TR FI T
it 1 1
L, @3 it ®3F 5 "}a{; e @
s 1 78 1 e @ L
46

. If a student can solve 80% problems
of a given book and another student

can solve 40% of them. Find the
probability that both of them will

(A) .32

(B) .33
(Cy .31 D) .38
47. The formula for time dilation is
_ T,,__ L Py
(A) T= v; l_‘_-- -i
e = e
_ <
® T= et
1-% &
Y & : -
(C) T=2xn \F-
4
(D) Nane of the above
US-16170-Series-S (

6. IR % BE 5% B 80% TTEAHR &

< 'f FC TS ¢ T THT B 40%, T4

; mﬁmﬁﬁ@ﬁ?ﬁm%ﬁwmﬁ
{ 3 99N G 3 B
32 B .33
“ T © 31 D) 38
47. TG A9 B G @
T
-2 @A T= ==
1- 2
5 ct
3.2
o By Ty=—
— Jl——"—
o
- ¢
©) T—QEJ;
(D) I § | 32 8
13)
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48. What will be the wavelength of a 48. T
photon whose energy is egual to
electron ip rest
(AY 4.2 A .

(B) n.mngz A
(Y 042 A
(D) 00242 A

49. Eight similar coins are thrown in 49, 3@
air together. what will be the
probability that the five coins are
having heads upward
(A) Hx 2% (B) 7x2°
(C) 3 x2¢ (D) 3x28

30. Six dimensional phase space is 50
known as
(A) u-Space o e
(B) t-Space R
(C) B-Space L
(D} None of the above WE

51. The Coriolis Equation is given 51. &
below. Which part of it shows
Coriolis acceleration
LRI B
dt* dt? "t

e oy [d'w
+ WX (wx r)s|——xr
" }
d*fF
Al —=
W e
_ T gy
B 2\ Wx —
(B) e
(C) wx(w»r r)
dl
D) "&'F’ff
US-15170-Series-S (14)

https://www.ccsustudy.com

() 5x2°

©)

D) -

aﬁm&‘@mwﬁm
T 2, mmﬁmﬁfﬁsﬁéWﬁq
2w arlt
7x2%

(C) 3x2 (D) 3x28

(A) u-WE
®) -¥E
(Cy p-¥4
@) e I q FE T&
& T FRARE §RE (Coriolis)

ﬁﬁmmwﬁﬁﬁrﬁrﬂwﬂ

9 BT 8
d*f d'r J-ir"x—

er ¢r, d’r
dt® dt L dt

(4)

(B)
W x ( x r)
d’w

dt

https://www.ccsustudy.com
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53.

54.
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A plane is moving with constant
motion then a stone is fallen from
it, what will be the path of the
atone as geen by pilot

(A) Parabolic

(B) Hyperbolie

(C) Arcof a circle

(D) Straight line

If second projectile observe the
motion of first projectile then the
path will be seen as

(A) Straight line

(B) Parabola

(C) Circle

(D) Hyperbola

A woman 18 year old starts moving
with 0.6 C velocity. What will be
her apparent age as seen by her
friends standing constant

(A) Increased

(B) Decreased

(C) Same

(D) Infinite

. ‘The charge on a proton is q at rest

mass. What will be the charge when
it gains velocity %
(c = Speed of light)

(A) q
gxe

.l 2
(B) 1‘[@)

i 2
(C) QHE)

(D) Infinite

(15)

52. TF A A oA X 5E WA A @

Wmﬁnmm_lmmm%m

53. 4% @ SAF F AR TH 973G I

> A 2 & Ry = ga B A
A wam@ I

(B) 9

() 39

(D) HAiFIETd

54. 18 a9 3 TfEen 0.6 C 37 & a FE

= w0 ¥ fe &3 g T PRl W
& & g@am oy Rl i AR

@) TG
® w@ggt
(C) T
(D) F

55. RUTEET 5 T & WeH H A

Q} R . I
g AW A
(c = 7B A W)

https://www.ccsustudy.com
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56. Correct number of permutations of
N different objects when ris taken

at a time

(A)

B o=t

1z [z

(C)
[N +r

N +
o =L
IN
57. The value of probability lies

-------

(A) lies between 01 and (- 01)
(B) lies between 0 and 01
(C) liesbetween 0 and 1.5
(D) None of the above

58. The number of microstates in a
given macrostate is known as
(A) Thermodynamic Probability
(B) Composite probability
(C) Apriori probability
(D) None of the above

59. Number of perm utationa of
6 different objects by taking 3 at

6. :mgamrqﬁwqm?]ql%

57, Wi B A A ... TR @3
() 017 (-~01) 3 &% Em %
@y oqwo1 & I e ?
T © oFa 15 3 99 e 3
©) a ¥ ¥ 7 T

58. @& I Hu-o9El | 99 Sl
N Fer Bt g

(&) SrTed it
®) Mz afiw

©, S e
D) 3l & § 2

atimeare f,.‘{y*lgqmﬁma’ﬁ LN
(A) 6 B) 60 j) Y @A) 6 ‘ ‘fB) 60
© 1% D) %

US-156170-Series-S

(D) 90 E/ﬁ) 120
/e
(1
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60. Accessible microstates are those

61.

62,

US-15170-Series-S

microstates which are allowed
under the given constrains is
(4) False

(B) Sometimes false sometime

true
(C) Notknown
(D) True
If the probability of occuring an
event is a and not ocecuring an
event is b. Then what will be the
probability that the event is not

occuring

Ay &
()a+h

(B)_b_

a+h

a

(D) None of the above

The sum of all possible probabilities
is |

(A) Zero

(B) Infinite

(C) One

(D) None of the above

.\,/'6)'”

(17)

60. ATY gE JRYE 3 a9 g,

A R oy & s g Ak
4

U FAT 3

(A) I8

B) I G F T

© v T

61. IR Rt g 3 aftw 8R & R

agdT I T aRa T B
gyt b &1 T8 ‘Gen gRa 8 e
& SR 2

(&)

a+b

b

a+b

a+b

© —
D) IRF T q B 1

62. TN WYg gRTRT 1 I 2 2

A ¥
B) I«

AT @S

D) I F § TR @
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83. What will be probability of an

equalibrium state W
(A) Maximum ®) :T{aq
(B} Minimum ©) (&) T (B) ot

(C) (A) and (B) both
(D) None of the above
64. What is Thermodynamical

(D)mﬁﬂ%ﬂ?ra‘ﬂﬁi
64, TR AR FEd €

probability (A) Re gl F miEEar
(A) Probability of an event tF T Fae 3 Ay ™
(B) No. of microstates accessible / Fqeqal & e 0
to a macrostate
(C) (A) and (B) both © @ ™ @) L
(D) None of the above ®) 30w ¥ & 2 T

66. The value of thermodynamical 85. SRS WS H RH EFT
prabability is

@ W- % @a W =-E
® w-— W
EENTY o ENLASE

€) wW=|N C) W=|N

(D) None of the above @ I ¥ 2 ?ﬁ'q" L
B6. An event which can not oceur is  66. Q‘ﬁ qz:n V'?l afeq Ttﬂ' £ Fl"ﬁ'ﬁ FEA

known as

(A) Impossible \_/fﬁ{ HE~Y

{(B) Possible ®) T

(© (A) and (B) both ©) &) 71 B) 3

(D) None of the above ©) IR ¥ J ,-g,g T

US-15170-Series-S (18)
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69.

70.
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The probability of distribution of
N particles in twa equal halves of

a box is minimum when r is equal

(A) Zero
€ -1

(B) +1
O 3

If N distinguishable particles are’

_ AT

67. N & & % 79 & A JOEH

arit & 9t 2, B i gn et
At r=?

(B) +1

© -1 ® 3

68. aﬁmqﬁzwaﬁrméaw

to be distributed in 8 equal part ofF G’ gt § sfer I & & g W@ﬂ

the box, then the total No. of
microstates will be

(A) 25N

N
®B) [—32-]
(C) 38"

(D} None of the above

If N distinguishable particles are
to be distributed is 2 equal part of
the box, then the total No. of
microatates will be

@ 3

B) (N-1)

€ N

@) (N+1)

Consider 100 molecules and 10 cell
of equal energy. All molecules are

equally digtributed among the
cells. Calculate log, 2, where

is the thermodynamical probability
(A) 230 (B) 320
(C) 23.0 (D) None of the above

ooooooo

(19)

% g wem B
(A) ZSN

® [%]N

A 3

" D) mﬁ%ﬁhﬁo 5

69. I N u¥T FU A 9H B 2 A

Wit & e A B A g
W @ He e

@ 5

B (N-1)
C) N

a/ﬁ) (N+1)

70. WFT 100 F91 3R 10 Y §9H 9 &

&1 wd o At T w9 A Rl

e

81 log, Q & ToF AR T Q
IS Wi &

(A) 230 (B) 320
(C) 230 (D) IUTe & & FE 7!

https://www.ccsustudy.com



https://www.ccsustudy.com

. The number of co-ordinate in the

phase space of a single particle
is

(A 6

® 5

) 4

® 3

Five particles are distributed in
two phase cells. Then the number
of macrostate is

72.

©) 4
o 3
ot B 2T BT A
T 31 79 TG T e §

@) 2

A) 2 :
®) 6 Vm
© 3 © 3
D) 32 D) 32
73. 8.k and T are related as 73. B, kT wafag B o
(A) T=kp (A) T=kp
-1 _ 1
®) B KT B) B_ﬁ
1
€ T<= 1
<3 () 'I‘<:B
. space is divided into
74. & TF a7 B
(A) Groups @ ;Fﬁ E
(B) Cells G’{@’l
(C) Subgroups 7/? o
D) Sets © 3 wg 3
(D) ezt 3
US—Iﬁl?O*SE!‘iéB—S ( 20)
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For one dimensional oscillator of

mass m, frequency v and energy
between O to E, the number of

Phase cells in two dimensional
phase space is

E
(&) Y

(B) Ehv

E
(C) v

E
P or

A system of thermal equlibrium
has its entropy

(A) Zero

(B) Minimum

(C) Maximum

(D) None of the above

At absolute temperature T the
number of atoms in a cell of Energy
E. at cquilibrium is .......

Y

[A) nizeﬂ

8!

(B) 1'l|=E"
__N ¥y

© m=5e

(D) None of the above

(21)

75. 0% i A 3 remE o, IEf

VWWO'@E%E&?{%W,&}
freirs &= A 3 T SRt
A ¢

E
a) -

v

(B) Ehv
E
© i,

E
D) m

76. A GFAEEH S 0B ed, 9

T @
A) g9
B) =g

() it

(D) 39U § & o/ T

77. O @9 T 9 B66 E S0 31 Hiiesdl

¥ qoRl @ de (WrEEen W)
3y]

(A) n = ¢

B

(B) n =e¥
, N &
(C©) m=5e"

(D) IR § ¥ B A6
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78. Lorentz transformation converts

79.

80.

81,

US-15170-Series-S

into Gallelian transformation

when % approaches to
(A) Zero

(B) Infinite

(C) One

(D) None of the above

The particle which moves more

than a Speed of light exist

Theoretically is known as
(A) Photon

(B) Neutron

(C) Takyons

(D) Neutrino

In Einstein mechanics the velocity

is known as

(A) Positive velocity
(B) Fast velocity

(C) Slow velocity

(D) World velocity
Light year is a unit of
(A) Distance

(B) Speed of light
(C) Velocity

(D) All of above

79.

80.

)Wﬁ"“"

(B) A 3 A
(C) @aﬁaﬂ?

75 7 o 7w @ AW B 0
o @ qq o ¥ &1 8§ T3
Ao B

(A) HEH

B) g

©) M

D) A

IRER T X 3T P W AW
2

(A) GIFF I

B) o= M

(C) Hg a3

D) T W

81. THY 94 TR 2

PrE L

(22)

(B) WY & iy
OELE

D) TN T
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§2. Ifv=
Fitzgerald thep
MOVIng rod wil] he
(A) 3 %10% metey
(B) Will remain
(C) Zero
(D) Infinity

the same

83. Whichisinvariant under Gallelian

transformation
(A) Velocity
(B) Length
(C) Momentum
(D) Potential Energy
84. Two velocities 0.6 C and 0.8 C are
inclined at 60°. What is the
resultant velocity
(A) 068C
(B) 0.88C
(C) 0.14C
(D) None of the above
85. The rest mass of the Photon is
(A) EIC?
(B) E¥C
(C) Zero
(D) None of the above

US—15170—Series—S

c as aCCD :
l‘dmg to I-Ol'entz-

the length of

82. W-Regotes & AR o v=c
GERIG L i oAb i L ot
(A) 3x 108 M
if._éB)“Ga#réT i At 3
€ =
(D) 3=

<

83. Hifms suF 3 Adim AR
(orafteeivia) @
@) am
B) TR

£H®) W
,,// (D) Rafes st

84. A I 06C M DBC T TN
§ 60° W g ¥ zom SR 3
2
(A) 0.68C
(B) 0.88C
(€ 0.14C
(D) 90 & q B T

85. RemE ¥ SRF &1 FFAE BRI 2
(a) E/C
(B) E4C

C€) I
D) et # § % T

(23)

https://www.ccsustudy.com



https://www.ccsustudy.com

10® m/sec
el ¥ 2.8 X%
86. In the laboratory the life time of 86 @ » et et 7
' & e & T AW

a particle moving with a velocity ofm a1 Fe
2.8 x 10* m/sec is found to be 9.5 % 107" sec R

2.5 x 10" sec. It's proper life time CIEGH 'ﬂﬁﬁm

18 (A) 8 108 sec

(A) 3 x 10 sec
(B) 69 x 10 sec
(C) 35% 107 sec
D) 3x10%sec
87. The variation of velocity withmass g7, 37 @ & ¥ 3 oRgdd & [T
relation is given by (Symbole have T

(B) 6.9% 10-7 sec
(C) 9.6 107" sec
(D) 3x10sec

thgir.usualmeaning) %)
m o7 m,
(4) m=—= (&) m=
¥ - 1--'2
V' o< ¢
v! V?
B) m=m, 1-——, (B) m=m, 1--'{:—2
©) m=—2 (€) m=—T0
v
1-5 1-
v vi
) m=m°[1—;,-J D) m=m, 1-?
88. Anelectron has a velocityof0.99C.  88. T FAHA & I 0.99C B, &
It's energy will be ot enft
(A) 3.6 MeV (A) 3.6 MeV
(B) .31 MeV (B) .31 MeV
(C) 31MeV (C) 31MeV
D) .031 MeV (D) .031 MeV
US-15170-Series-S (24)
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A particle moves along the X-axis
in a frame S’ with 4 speed of
0.40 C, frame 8' with 5 speed of
0.60 C with reference to frame S,
which is at rest. What is the speed

of a particle as measured in
frame S

(A) 0.19C

(B) 0.54C

(C) 0.63C

(D) 0.81C

In Michelson-Morley experiment,
If the effective length of each path
is 7 meter and wavelength of light
18 7000 zgt then fringe displacement
18

(a) .1

(B) 0.4

©) 02

(D) Zero

The statement that “Bosons do not
obey Pauli’s exculsion Principle” is
(A) True

(B) False

(C) Not-known

(D) None of the above

8. %% F1 X-am B W ¢ 9 &

90.

91.

(25)

040 C 9t I } My &7 @1 &1 B
$ S 3T 0.60C P TW J
Marwe, WS ILIMAS
% FW A am g (3 A e g)
(A) 0.19C
(B) 0.54C
(C) 0.63C
(D) 081C

A 3 i A, W
T A w7 et @ 9
s & TERe 7000 A ¥ 7 B
Qe

@ .

(B) 04

© 02 _—

D) ¥4

T2 3 F5 G TR U M
3 Oee 78 & §, &

(A) ¥

B) HTA

(C) ™

(D) Tl F A A W
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92. A svstem contains of 5 particles
in Two compartment is divided
into 6 cells and the second into
8 celis. The cells are of equal
size. Calculate the number of
Microstates in the macrostate
(2. 3) if the particles obey B.E.
Statistics
(A) 8
B) 6
(O 2520
D) 2500

93. The clectron concentration 93.
in metal (=10* per m?) js
large as compared with
concentration of atoms of
ordinary gas (=10% per m?) The
above statement is
{A) False
(B) True
{C) Not-known
(D) None of the above

94. No Two electrons can be in the 94.
same quantum state i.e. if one
electron 18 in a  specific quantum
state. the other electron must be
in 2 different quantum state
The above statement is of
(A) Pauli exclusion principle
(B) Faradavlaw
(C) Bohrs law
(D) None of the above

US-15170-Series-S (26)
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92. w% P A 5 am A @ A 4¢ T

Y| Q5 @ 6 U GET 8 e
¥ a1 ¥ wh Sfeed T ST
A Y v owa (2, 3) @A A
# T WA 3¢ 2R 3 B.E. AN
T F &

(A) 8

B) 6

(C) 2520

(D) 2500

D) IR F & 2

#8 A FHN & wiew w7 § @
T T agd IR & BRE &
fafdre Fiew arqe § a2 ge0 SARH,
1 T st & 2F ate
I FuT B

(A) et B el Ry &
(B) &= 3 Py 37

©) I Py
D) IR & } 7 Th

https://www.ccsustudy.com

e —— ———



96.

96.

97.

98.

US-15170-Series-S

https://www.ccsustudy.com

Calculate the p m 4 Speed of
nitrogen at 27°C, GivenN =6x [

molecule/mole and k = 1.38 x 1016

ergs/Kwhere V_ = (KT
V'm

(A) 4.66x109= ¢m/second

(B) 5.16 10" em/second

(C) 1x10* cm/second

(D) None of the ahove

Calculate the different number
of ways of arran ging 6 fermions in
10 elementary Phase cells

A) 200 (B) 260

(C) 210 (D) None ofthe above
Five particles have speeds 1, 3, 4,
b, 7 m/gec respectively. Their r.m.s.
speed is

10 1
(A) N (B) 7
() 5 (D) None of the above

A body which absorbs all the
radiations falling on it without

reflecting or transmitting any of it
is called a

(A) Black body
(B) White body
(C) Luminuos body

(D) None of the above

95. 27°C 7 A #1 g W T T

96.

97.

98.

[

(27)

T FE | Fenr B N =6 x 10 &9/
T K =1.38 % 10 31 /K 781 0
b

(A) 4.66 x10-® =i /84%73

(B) 5.16 x10* A%./4F°3

(C) 1x10* . /503

(D) 9l ¥ | F8 T

6 TR B 10 F T FREHHA
Fia

(A) 200 (B) 230

(C) 210 (D) T90F 3 § B3 T
dfe oot & T #1034
5,7 m/sec. 31 FFH T A I
99 &

10 1
— (B)—
w7z B3
(©) v5 (D) WA F A B T

@ [Us o oG I P A e
R 3 SaeiRg BT A9 &, a0

75 quEria I i T B,
HeEEl &

1A i

(B) a e

© a R

D) I A ¥ FE T
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99. Occupation Index indicates
(A) Number of particles per
~ phasecell
(B) Number of phase cells
(C) Number of particles
(D) None of the above
100.In black body chamber, the

number of photons

(A) Remains constant
(B) Continuously varies
(C) Not known

(D) None of the above

99. ¥ @W (Occupation Index)

Tamr ?

A) Pl e At F Fei B HE
(B) Fa Piftewmralt H GEA

(C) % & Hean

(D) Iqiad & & F13 Tl

100.0% Hom e ¥, GEA @ e

() Pt e 3

® TR wd wd
(C) I

©) i ¥ & B
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